AOTIZTIKOI APIOMOAEIKTEZ — ACCOUNTING RATIOS

1. Acikteg Arédoong (I Kepdogopiag) — Profitability Ratios

(i) Acgiktng Meiktou Képdoug rpog KéoTog NwAnRocewyv (Mark-up)

, . s p . _ Mektd KépSog — .0
Agiktng Meiktou Képdoug rpog KéoTog MNMwAAoewv T T p— 100 =%

Mark up = 2P0/ o 100 = ... 94

Cost of sales

(ii) Agiktng MeikToU Mep1Bwpiou 1| Meiktou Képdoug (Gross Profit Margin)

AgikTng MeikTou Képdoug = MEXOKPO0S o 100 = ... 95

HwAoegwg

Gross Profit

Gross Profit margin = X 100 =%

Revenue
(iii) Agiktng KaBapou MepiBwpiou | KaBapou Képdoug (Net Profit Margin)

KaBapb Asttovpyikd KépSog

X100 =--%

Aciktng KaBapou Képdoug =

NwMoe

Operating Profit

Net Profit margin = X 100 =%

Revenue

(iv) Agiktng Ar6d0o0ong ATraoxoAoUpevwy - ETrevdupévwv KepaAaiwv
(Return on Capital Employed-ROCE)

p . . KabBapa Képdn mpwv and t6kovg & @OpougcH
(a) ATTodoon AtracyohoUpevwy Kepahaiwy = ———be— P21 TPV 7T = POPOE %100 = -+ %
ZV0voldo Atao yodovuévwy Kepalaiwv

Net profit before interest& taxesx

X100 =%

ROCE =

Total Capital Employed

*or operating profit

Kabapda Képdn petd amd to0kovc& @opov
P pon n g& POp CXlOOZ"'%

AT AT AoUpevwy KepaAaiwy =
(b) 0600n QOXOAOUHEVW Eparaiw Amaoyoiovusva Kepdlaia

Net profit after interest & taxes

ROCE** = X100 =%

owners'Capital Employed

** or Return on equity or Return on shareholders’ funds (ROSF)
2. Agikteg PeuoTéTnTag — Liquidity Ratios

(i) Aciktng KukAogopiaknig (f Fevikng) PeuotdétnTag (Current Ratio)
Kvklo@opiakd Evepyntikd

Agiktng KukAogopliakrg PeuoTtotntag =
ns popiakng ras BpayvmpdOeoues YTOYPEWOELG

Current Assets

Current ratio = —
Current Liabilities



(ii) AcikTng MpayuaTtikAg (A EI81kAG) PeuoTétnTag (Acid Test or Quick ratio)

Kvklogopiakd Evepyntikd—Amobéuata

Aciktng MpayuaTikig Peuotdtntag =

BpaxvmpoOeaues YToYpewaeLs

Current Assets—Inventory

Acid Test (or Quick ratio) =

Current Liabilities

3. Acikteg ApaoTnpidtnrag — Activity Ratios (Use of assets)

(i) Acgiktng KukAogopiakng Taxutnrag Atrofepdartwy (Inventory Turnover)

AgikTne Kukhogopiakic Taxutntac AToBepdrwy = —orros lwdigeoy 5 a6

Méoog '0pog AToOspudTwv*

Cost of Sales
Average Inventoryx

Inventory Turnover = =...times

*Average inventory= (Opening+closing)/2

(i) Méon MNepiodog Eiompagng (Average collection period)

Xpewoteg

Méon Trepiodog eioTrpagng = X 365 uépeg = -+ U€PES

Mwoels ue miotwon

Trade receivables

Average collection period = %X 365 days = ---days

Credit sales
(iii) Méon Mepiodog NMAnpwung (Average payment period)

MoTWTEG

Méaon TTepiodog TTANPWUNAG = X 365 uépeg = -+ uépeg

Ayopég ue miotwon

Average payment period = o3¢ PAYabIes 366 gays = ... days

Credit purchases

4. Agikteg Xpéoug p MéxAeuong (Solvency Ratios)

(i) Agiktng MéxAguong (Gearing ratio)

Ke@dialo otabepov eL605patogx

Agiktng MoxAeuong = X100 =%

ZUvodo AT Y00V UEV WY KEQAAQIWV**

. . Fixed Return Fundingx
Gearing ratio = : 9% %100 =%
Total Capital Employedx*

* Fixed Return Funding: Preference shares + debentures + other non-current liabilities

**Total Capital Employed: OSC + PSC + reserves + non-current liabilities
(or total assets less current liabilities)



